EARAROBEEIERT — 2 N— IBISH —F

2018108170 (k) 15EIEME1A

mﬁﬁ%b Lo AERA2 ¥5R3%KE (xwlw | mEmml - |5 8) 0w 8
[A&4£] 1% :1,300,000 @ 23 :364,000 @ 33 :182,000  ~ 4 #&:130,000 @ . 5 7 :104,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
- —H : 85 - i
2l 7|5 Tr18— 4 5 57%*?5 " 1.(5_4).6 8-8-5-3 | 39.3 2 :3;; égﬁé (k)
RO—TXA LA, BETR)—LFq— AR 78S
S 47 | EREE 1:54.8 3-3-1-2 | 40.1| — 1 514 | #BF=% (ER)
2|8|9|¥—T7¥RA b 5.0 o Gs) | ETAL—g8
R:TTIN—F BNTIVALISLZ =Y
N # 8 | THE 1:55.0 6-5-6-6 |39.8| — 3 454 | WEEH (FEkR)
3 6| FIELHZR 56.0 1) 42 | ) Tr-ZbEVar
RA-JZXA2 x4 B:TLIv XTI T7 KIFEBHRS
= e : —0-3- = EfME (FEH)
alsls|9t—2—F17F it 6 S 1(/7551:? 2-2-3-5 | 40.2 9 zzg;s SEnE
LN=VT74 Biysr—2—I31 /)X~ RAREKS
. N M2V PN :55. —4-4- . — tE¥z (BM
5/111|7>3-7732 -3 Gy | T |y |ExE
L:TANWRTyYa BT b2 — J—YTr—LA
6 NPERPIN-CF i 3 g%’»‘ﬂt 1(:15/52.>2 7-7-71-7 |39.7| — 6 (4_1:) Egg (Em)
B4 LN Ry 7R B:nOT—> EE &
LR 3 6 | LEEKX 1:55.3 1-1-2-1 | 40.7| — 4 472 | FHEX (EB)
THP 2 EFVasT— 54.0 (172) © | @) E<sa-HL—va>
L:YZRE—3IZ2R4— BT N—-TJ1— EZHTT— L
3 4 5 | AURE 1:55.5 9-9-9-8 [39.8| — 7 474 | AT (FEH)
gl7|g| T—AITILR 56.0 ( 1/4) (o) | ) =23
Vv TRy b BiF—-X3%3 [Elzksec)
L H # o6 | TIRLEH® 1:56.4 5-5-8-9 | 41.1| — 8 500 | AR (FEHR)
9|8[10| ¥~ 7HXX 0 ) G | KEET
LD THANAN B RE2—H LN K =Y Ty—LA
s WA = = = = = — | FEEHE (BA
*% 3 TIxANAUT s 52.0 (R4t (—) #) A—IHANRZ MEE
L:TVHA XTI K B:TITRRINRT akikie
® 1—F—@EBIERL
1T=7r= 2,5,9,1,10,6,4,7,8
20—F— 2,5,9,1,(6,10),4,7,8
Ja=5= 9,2,5,1,7,6,4,10,8
40—F— 2,9,7,1,5,6,4,8,10
[ N5
B 7 260M 714K 7-9 130M e E 7-8 210 JEE 6-7-9 370
B B 7 110H 6-7 230M B = 7-9 220M EE 7-9-6 1,200
9 1004 6-9 250M B H 7-9 520M
6 1309

ABICOVWTRDTEEERROODE. TR LIV,




